ORI E AR R R

(G fE) FHAH 1 2022.9. 14
_— 4 H - AL AL AL AL AL AL AL AL AL
AT A - AL AL AL AL AL AL AL AL AL
VESEREH - - 9:58~10:23|14:09~14:25| 14:25~14:41| 8:15~8:32 | 8:32~8:49 | 10:50~11:10| 14:59~15:17| 9:06~9:25 | 15:37~15:53
KPL m - 0.99 - — — — - - - -
ESV/N7 m - 1.80 5.60 5.60 6. 50 6. 50 0. 90 1.70 2.60 2.40
PO m — 0. 36 1.12 2. 80 1.30 3.25 #E 0. 34 0. 52 0.48
KR C — 33.3 32.8 32.8 29.9 30.0 19.8 19.0 30. 8 32.4
KR C — 24.9 27.5 27.5 25.5 27.2 22.3 21.3 28.9 26. 2
S8 — — (21355 1 (21355 1 (21355 1 (21355 1 (21355 1] (21355 1] (21355 1] (21355 1] (21355 1
R (I1RF) — — L L L L L L L L L
T m — >1. 80 1.90 1.90 2.50 2.50 >0. 90 >1.70 1.90 >2. 40
TR cm — >100 >100 >100 >100 >100 >100 >100 >100 >100
PN E) — — 9 9 9 8 8 10 9 10 10
i % - — | EkiE:0. 99m — — — — —0HE — — HEL A
pH - - 7.9 8.0 8.2 7.8 8.0 7.5 7.7 7.9 7.8
(KR () (—) (20.2) (20. 3) (19.7) (20. 3) (20. 3) (20. 3) (19.7) (20.0) (20.2)
BOD mg/L 0.5 0.5 0.5 0.8 0.5 0.6 0.5 0.7 1.9 0.5
CcCOD mg/L 0.5 1.6 1.6 2.3 1.5 2.1 2.9 3.0 4.9 1.5
Ss mg/L 1 2 2 2 2 2 4 3 5 4
DO mg/L 0.5 8.8 9.5 6.9 7.2 5.6 6.6 7.0 6.9 9.3
KIG CFU/100ml, 1 15 6 120 22 360 27 75 220 —
n—~EV A E mg/L 0.5 — <0.5 - 0.5 - - - - <0.5
gttty mg/L 0. 001 <0. 001 <0. 001 <0. 001 0. 003 <0. 001 0. 001 0.001 0.001 —
waEFR mg/L 0. 05 0. 29 0. 27 0. 25 0. 28 0. 24 0. 63 0. 60 0. 49 —
By mg/L 0. 003 0.015 0.018 0. 039 0.019 0. 039 0.079 0. 092 0. 081 —
T =Y LR mg/L 0. 05 0. 06 0. 05 0. 09 0.11 0. 08 0.10 0. 09 0. 08 —
AR RE 4 5 mg/L 0. 001 0. 003 0. 003 0. 002 0. 003 0. 003 0. 009 0.014 0. 008 —
e R mg/L 0. 02 0.19 0.16 0. 04 0.16 0. 04 0.35 0. 34 0. 09 -
FrgnesE mg/L 0.05 0. 05 0. 05 0.11 <0. 05 0.11 0.16 0.14 0.31 —
AN Y EBREY v mg/L 0. 003 0. 003 0. 005 0.011 0. 007 0. 020 0. 058 0. 068 0.033 -
R i3 0.2 2.2 2.0 1.6 2.2 1.5 3.0 2.6 3.9 2.0
B mS/m 0.1 8.0 202 2740 485 2650 163 744 1940 209
A A mg/L 2 <2 669 15100 1940 13600 529 3170 9880 700
ARV RGBT fi#/100mL 1 12 12 2 17 2 3800 6200 300 —
KIGHREE MPN/100mI, 0 4900 2200 170 13000 1700 130000 350000 24000 —
TREDO mg/L 0.5 — 5.6 4.0 — — — 6.6
J=NT =)= e/l 0. 06 <0. 06 — - <0. 06 - <0. 06 - <0. 06 <0. 06




